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e Please check that this question paper contains 16 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

o Please check that this question paper contains 34 questions.

o Please write down the Serial Number of the _quesﬁ(m before
attempting it. '

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 am. From 10.15 am. to 10.30 am., the
students will read the question paper only and will not write any answer on

the answer-book durmg this period.
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General Instructions : ‘

(1)  All questions are compulsory.

(i)  The question paper consists of 34 questlons divided into four sections — A,
B, Cand D. ~

(iii) Section A contains 8 questions of 1 mark each, which are multiple choice
type questions, Section B contains 6 questions of 2 marks each, Section C
contains 10 questions of 3 marks each and Sectzon D contains
10 questions of 4 marks each.

(v There is no overall choice in the paper.
()  Use of calculators is not permitted.
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Questzon numbers 1 to 8 carry 1 mark each. For each of the question numbers
1 to 8, four alternative choices have been provzded of which only one is correct.
Select the correct chozce '
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A d1e is thrown once. The probablhty of gettmg a pnme number is
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Point A is on the y- _axis at a distance of 4 units from origin. If coordinates
of point B are (- 3, 0), the length of AB is

a 7 unlts ,
(B) 5 units

(C) 49 units

(M) 25 units
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4) 9:4
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© 2:3

(D) 16:81
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If the circumferences of two
their areas is
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circles are in the ratio 4 : 9, then the ratio in
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~ In Figure 1, there are two concentric circles with centre O and radii 5 cm

and 3 cecm. PA and PB are tangents to these circles from an external
point P. If PA = 12 c¢m, then length of PB (in em) is
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 In Figure 2, a circle touches the side BC of ya triangle ABC at P and the |

sides AB and AC produced at Q and R respectlvely If AQ =5 cm, the
perimeter of A ABC (in cm) is

Figure 2
(A) 10k
(B) 175
«©€) 15
(D) 20
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(B) 30°

(C) 45°

(D) 60°

30/212

If at some time, the length of the shadow of a tower is /3 times its ,
height, then'the angle of elevation of the Sun, at that time, is

(A) 15°

(B) 30°
©) 45°
(D) 60°
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Question numbers 9 to 14 carry 2 marks each.
9. N 3 H, A ABC 3iciid Wie1 1 9, SR T BC, CA 7o ABHY

ShHYT: fo=g3ll P, Q 91 R W o0l htal 2 lHﬁAB:AC%,‘cﬁ%Tg’Tﬁ%rQ%
BP = CP. ‘

.
In Figure 3, a circle inscribed in A ABC, touche its sides BC, CA and

AB at the points P, Q and R respectively. If AB = AC, then prove that
BP = CP. ' ’ | | .

3o0pp .




10. f @ PA T PB'@%ﬁ’Tlé‘

In Figure 4, two tangénts PA and PB are drawn to a circle with centré 0
from an external point P. Prove that £ APB = 2 / OAB. '
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Figure 4
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_ In Figure 5, the area of the shaded region between two conceﬁtrlc circles
| is 286 cm?. If the difference of the radn of the two circles is 7 c¢m, find the

sum of their radii. [Use 1 = ]

2 (V2 +)x+42 =0

Solve for X:

(x—-(\/—2_+1)x+\/— 0

13. ﬁqmmﬁwmm@ﬁmmm S 118 9T 8 |
Find the number of three digit natural numbers which are divisible
by 11. '
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 The ace, jack, queen and king of clubs are removed from a pack of 52

| playing cards. Remaining cards are well shuffled and a card is drawn
from them at random. Find the probability that the drawn card is of
black colour. ' '
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 Question numbers 15 to 24 carry 3 marks each.
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The total surface area of a solid cylinder is 231 em?. If the curved surface

_ height. [Use 1 = —2;7%]

16.

area of this solid cylinder is —g— of its total surface area, find its radius and -
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A rocket is in the form of a cylinder surmounted by a cone of same base
radius. If the radius and the height of the cylinder are 5 m and 10-5 m
respectively and the height of the cone is 7 m, find the volume of air

. contained in the rocket. [Usern = 27-7?-]
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In Figure 6, from each corner of a square of side 4 cm, a quadrant of a
circle of radius 1 em is cut and also a circle of diameter 2 cm is cut. Find

the area of the shaded region. [Use T =3-14]

P

| Figure 6

18. R fog P, - 2) T Q(é ) forgett AG, - 9) @1 B(, 2) % e
| "WWABWWWW% a1 p A o % T 3T SHIRT | |
The line segment AB j Joining the points A(3, — 4), and B(1, 2) is trisected

at the points P(p; -2) and Q(—5— . q) . Find the values of p and q.

19, 542 @@ Wa@ﬁﬁmﬁrﬁmﬁ@aﬁmgﬁﬁaﬁ@@ﬁ
fanfor eeft 2 | @Y 39w %1 g T A | [n=guadify

A chord of length 10 em divides a circle of radius 5v2 em in two
segments. Find the area of the minor segment. [Usern = 3 -14]
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The angles of elevation of the top of a tower from two points at dlstances

of 6 m and 13-5 m from the base of the tower and in the same stralght
line with it, are complementary Find the helght of the tower.

21. k%mm%mﬁaﬁmmn x —(sk-l)x+zk2+2k—11=o%qyr'
TEHE? .

For what value of k are , the roots of the quadratic equatlon
X - Bk — 1)X+2k2+2k 11 = Oequa1'7
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The 180 term of an AP is 30 more than its Sth term
the AP is 48, find the AP.

23. @wﬁwﬁwﬁmmmﬁﬁ g:ﬂrq (m‘%
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If the 15" term of

atfafwr) 5 3 aon
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Construth‘ a right triangle in which the sides (other than hypotenuse) are
_ of lengths 5 cm and 7 cm. Then construct another triangle whose sides

are g— times thé corresponding sides of the given triangle.

24, ﬁvFgA(x y)‘cﬁﬁ%\’:ﬁP(G —1) 9 Q2. 3)@;41@@1% a1 fig i
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If the point A(x, y) is equidistant from two points P(6, —1) and Q(2, 3),

prove that 'y =x-3.
Hug e
SECTION D
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Question numbers 25 to 34 carry 4 hzarks each.

25, %%m%msﬁwﬁb?ﬁ@m%m
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A bucket open at the ‘top is of the form of a frust

diameters of its upper and lower circular ends are

[n:%zFﬁﬁm] )

um of a cone. The
40 cm and 20 cm

: gesp_ectively. If a total of 17600 cm?® of water can be 'ﬁlled in the bucket,

find its total surface area. [Use = 2,—72—]
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~ Students.of a school thought of plaﬁting trees in and around the schoolfo

reduce air pollution. It was decided that the number of trees, that each
section of each class will plant, will be the same as the class in which
they are studying, e.g. a section of class I will plant 1 tree, a section of
class II will plant 2 trees and so on till class XII. There are three sections
of each class. Find the total number of trees planted by the students of
the school.

Pollution control is necessary for everybodys health. Suggest one more
role of students in it.

i 7 8, PAaaTPB@wﬁ@P@é;aoa@qam@%ﬁnéam
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In Figure 7, PA and PB are two tangents drawn from an external point P
to a circle with centre O. Prove that OP is the right bisector of line
segment AB.

Figure 7 |

14
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The present age of a father is equal to the square of the present age of his

'son. One year ago, the age of the father was 8 tlmes the age of his son.
Find their present ages. :

29, g v s 9w S fre forg
Edel “

Prove that the tangent at any point of a c1rcle is perpendmular to the |
‘, radlus through the point of contact. ’

30. '@mm@aawlmmmaﬂ:mmwmfw@
20 9t HIqRH UTE T T U159 g TH TR A Sear | A gy # e
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A farmer connects a pipe of internal diameter 20 cm from a canal into a |
cylindrical tank in his field, which is 10 m in diameter and 2 m deep. If .

- water flows through the pipe at the rate of 3 km/h in how much time will
the tank be filled ?

31. 7W3I W%ﬁ@ﬁwmm%mmmm 60°%3:ﬁtgaé;'
q1g ST A HITT 30° 8 | TR hl = T4 HINT |

From the top of a 7 m high building, the angle of elevation of the top of a
cable tower is 60° and the angle of depression of its foot is 30°. Determine

the height of the tower.
s aibEe D) |
Solve the following quadratlc equatlon in variable x :
abx?= (a+b)? (x—1)
33. AN WERHAx whewhid) | |
@ R 9 8 @ wgeem T e P T 9, zﬁﬁwﬁnﬁa@gmm |
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34,

A bag contains 12 balls out of Whmh x are white.

(1) If one ball is drawn at random find the probabﬂlty that it is ay
white ball.

(i1) If 6 more white balls are put in the bag, the probability of drawmg .
a white ball is double than that in (1)

Flnd x.

3 Rgett 3, 2), (5, 4 TN (3, 6) T T By B Fedt F W Rgad B

e & = Frs 1 9% 716 HINT |

Find the area of the triangle formed by joinixig, the mid-points of the sides

_of a triangle whose vertices are (3, 2), (5, 4) and (3, 6).
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